Name: Mathe Test 2 07.09.2022
(D Berechne schriftlich und bilde einen Uberschlag. /4
a) 80568 + 8084 = c) 19986 + 7909 =
b) 78784 + 1085 = d) 18730+ 5837 =
(@ Berechne schriftlich und bilde einen Uberschlag. /4
a) 5735-594 = c) 1350-996 =
b) 8953-391= d) 8951-173=
(® Berechne schriftlich! /4
a) 11583 + 98377 + 5953 = c) 30421 +50291 + 4543 =
b) 76696 + 45064 + 2049 = d) 3619 + 40145 + 2060 =
(@ Berechne schriftlich und bilde einen Uberschlag. /4
a) 39907 - 6541 - 2275 = c) 77001 -16547 - 8234 =
b) 58035 - 25555 - 7305 = d) 95930 - 29039 - 7590 =
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